
 
Prove that: 

𝝍 = ∫ 𝒙 𝐥𝐧(
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
(𝜸 − 𝑪𝒊(𝝅) − 𝟒𝑺𝒊 (

𝝅

𝟐
) + 𝐥𝐧(

𝝅𝟑

𝟏𝟔
) + 𝟏) 

Proposed by Shirvan Tahirov-Azerbaijan 

Solution 1 by Bui Hong Suc-Vietnam 

∴ 𝑺𝒊(𝒛) = ∫
𝐬𝐢𝐧 𝒕

𝒕

𝟏

𝟎

𝒅𝒕; 𝑪𝒊(𝒛) = −∫
𝐜𝐨𝐬 𝒕

𝒕

∞

𝒛

𝒅𝒕 = 𝜸 + 𝐥𝐧(𝒛) +∫
𝐜𝐨𝐬 𝒕 − 𝟏

𝒕

𝒛

𝟎

𝒅𝒕 

𝝍 = ∫ 𝒙 𝐥𝐧(
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)𝒅𝒙

𝟏

𝟎

= 𝟐∫ 𝒙 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝟏 − 𝒙))𝒅𝒙 −
𝟏

𝟎

 

−∫ 𝒙 𝐥𝐧(𝒙𝟐 + 𝟏)𝒅𝒙 − 𝟐𝑨 − 𝑩
𝟏

𝟎

 

∴ 𝑨 = ∫ 𝒙 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝟏 − 𝒙))𝒅𝒙 =⏞
𝟏−𝒙→𝟏

∫ (𝟏 − 𝒙) 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝒙))𝒅𝒙 =
𝟏

𝟎

𝟏

𝟎

 

= ∫ 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝒙))𝒅𝒙 − ∫ 𝐱𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝒙))𝒅𝒙 =⏞
𝒙=𝐬𝐢𝐧 𝒕

∫ 𝐥𝐧(𝒕)𝒅(𝐬𝐢𝐧 𝒕)
𝟏

𝟎⏟          
𝑰𝑩𝑷

𝟏

𝟎

𝟏

𝟎

− 

−∫ 𝐜𝐨𝐬(𝒕) 𝐬𝐢𝐧(𝒕)

𝝅
𝟐

𝟎

𝒍𝒏(𝒕)𝒅𝒕 = 𝒔𝒊𝒏(𝒕)𝒍𝒏(𝒕) |

𝝅
𝟐
𝟎
−∫

𝐬𝐢𝐧 𝒕

𝒕

𝝅
𝟐

𝟎

𝒅𝒕 −
𝟏

𝟐
∫ 𝐬𝐢𝐧(𝟐𝒕)𝒍𝒏(𝒕)𝒅𝒕

𝝅
𝟐

𝟎⏟            
𝟐𝒕→𝒕

= 

= 𝐥𝐧(
𝝅

𝟐
) − 𝑺𝒊 (

𝝅

𝟐
) +

𝟏

𝟒
∫ 𝐥𝐧(

𝒕

𝟐
)𝒅(𝐜𝐨𝐬(𝒕))

𝝅

𝟎

= 𝐥𝐧(
𝝅

𝟐
) − 𝑺𝒊 (

𝝅

𝟐
) + 

+
𝟏

𝟒

{
 
 

 
 

∫ 𝐥𝐧(𝒕)𝒅(𝐜𝐨𝐬(𝒕) − 𝟏)

𝝅

𝟎⏟              
𝑰𝑩𝑷

− 𝒍𝒏(𝟐)∫𝒅(𝐜𝐨𝐬(𝒕))

𝝅

𝟎⏟        
=−𝟐 }

 
 

 
 

= 𝐥𝐧 (
𝝅

𝟐
) − 𝑺𝒊 (

𝝅

𝟐
) + 

+
𝟏

𝟒
{𝒄𝒐𝒔(𝒕) − 𝟏)𝒍𝒏(𝒕) |

𝝅

𝟎
− ∫

𝐜𝐨𝐬 𝒕 − 𝟏

𝒕

𝒛

𝟎

𝒅𝒕 + 𝟐 𝐥𝐧(𝟐)}= 𝐥𝐧 (
𝝅

𝟐
) − 𝑺𝒊 (

𝝅

𝟐
) +

𝟏

𝟒
(−𝟐𝒍𝒏(𝝅) − 𝑪𝒊(𝝅) + 𝜸

+ 𝐥𝐧(𝝅) + 𝟐 𝐥𝐧(𝟐)) =
𝟏

𝟒
{𝜸 − 𝑪𝒊(𝝅) − 𝟒𝑺𝒊 (

𝝅

𝟐
) + 𝐥𝐧(

𝝅𝟑

𝟒
)} 

∴ 𝑩 = ∫𝒙 𝐥𝐧(𝒙𝟐 + 𝟏)𝒅𝒙 =⏞
𝑰𝑩𝑷

𝟏

𝟎

(𝒙𝟐 + 𝟏) 𝐥𝐧(𝒙𝟐 + 𝟏)

𝟐
|
𝟏

𝟎
− ∫

(𝒙𝟐 + 𝟏)𝒙

(𝒙𝟐 + 𝟏)

𝟏

𝟎

𝒅𝒙 = 𝐥𝐧(𝟐) −∫𝒙𝒅𝒙 = 𝐥𝐧(𝟐)

𝟏

𝟎

−
𝟏

𝟐
 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆:𝝍 = 𝟐𝑨− 𝑩 = 𝟐 {
𝟏

𝟒
{𝜸 − 𝑪𝒊(𝝅) − 𝟒𝑺𝒊 (

𝝅

𝟐
) + 𝐥𝐧(

𝝅𝟑

𝟒
)}} − (𝐥𝐧(𝟐) −

𝟏

𝟐
) = 

=
𝟏

𝟐
(𝟏 + 𝜸 − 𝑪𝒊(𝝅) − 𝟒𝑺𝒊 (

𝝅

𝟐
) + 𝐥𝐧(

𝝅𝟑

𝟏𝟔
)) 



 
Solution 2 by Ankush Kumar Parcha-India 
 

𝑾𝒆 𝒉𝒂𝒗𝒆,∫ 𝒙 𝐥𝐧(
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)

𝟏

𝟎

𝒅𝒙 = 𝟐∫ 𝒙𝒍𝒏𝒔𝒊𝒏−𝟏(𝟏 − 𝒙)𝒅𝒙
𝟏

𝟎⏟              
𝒙→𝟏−𝒙

−∫ 𝒙𝒍𝒏(𝟏 + 𝒙𝟐)𝒅𝒙
𝟏

𝟎⏟            
𝒙𝟐→𝒙

 

= 𝟐∫ (𝟏 − 𝒙)𝒍𝒏𝒔𝒊𝒏−𝟏𝒅𝒙
𝟏

𝟎⏟              
𝒙→𝐬𝐢𝐧 (𝒙)

−
𝟏

𝟐
∫ 𝒍𝒏(𝟏 + 𝒙)𝒅𝒙
𝟏

𝟎⏟          
𝑰.𝑩.𝑷

=⏞
𝐬𝐢𝐧(𝟐𝒙)=𝟐𝐬𝐢𝐧(𝒙) 𝐜𝐨𝐬(𝒙)

𝟐∫ 𝒍𝒏(𝒙) 𝐜𝐨𝐬(𝒙)𝒅𝒙

𝝅
𝟐

𝟎⏟            
𝑰.𝑩.𝑷

− 

∫ 𝒍𝒏(𝒙) 𝐬𝐢𝐧(𝟐𝒙)𝒅𝒙

𝝅
𝟐

𝟎⏟            
𝑰.𝑩.𝑷

− (
𝐥𝐧 (𝟏 + 𝒙)

𝟐
∫𝒅𝒙)

𝟏

𝟎
+
𝟏

𝟐
∫
𝒙 + 𝟏 − 𝟏

𝒙 + 𝟏
𝒅𝒙 = (𝟐𝐥𝐧 (𝒙)∫𝒅𝒔𝒊𝒏(𝒙))

𝝅
𝟐
𝟎
−

𝟏

𝟎

  

−𝟐∫ 𝒅𝑺𝒊(𝒙) + (
𝐥𝐧 (𝒙)

𝟐
∫𝒅𝒄𝒐𝒔(𝟐𝒙))

𝝅
𝟐
𝟎
−∫

𝒅𝑪𝒊(𝒙)

𝟐
−
𝐥𝐧(𝟐)

𝟐
+ ∫

𝒅𝒙

𝟐
−
𝟏

𝟐
∫

𝒅𝒙

𝟏 + 𝒙

𝟏

𝟎

𝟏

𝟎

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

 

(∫
𝟏 − 𝐜𝐨𝐬 (𝒕)

𝒕
𝒅𝒕 = ᵧ + 𝐥𝐧(𝒙) − 𝑪𝒊(𝒙),   |𝑨𝒓𝒈(𝒙)| < 𝝅) 

𝒙

𝟎

 

= 𝟐 𝐥𝐧 (
𝝅

𝟐
) − 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝟏

𝟐
𝐥𝐧 (

𝝅

𝟐
) − 𝐥𝐢𝐦

𝒙→𝟎

𝐥𝐧 (𝒙)

𝟐
−
𝑪𝒊(𝝅)

𝟐
+
ᵧ

𝟐
+ 𝐥𝐢𝐦
𝒙→𝟎

𝐥𝐧 (𝟐𝒙)

𝟐
−
𝐥𝐧(𝟐)

𝟐
+
𝟏

𝟐
− 

∫
𝒅𝒍𝒏(𝟏 + 𝒙)

𝟐
=
ᵧ

𝟐
− 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝑪𝒊(𝝅)

𝟐
+
𝟑

𝟐

𝟏

𝟎

𝐥𝐧 (
𝝅

𝟐
) +

𝐥𝐧 (𝟐)

𝟐
− 𝐥𝐧(𝟐) +

𝟏

𝟐
= 

ᵧ

𝟐
− 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝑪𝒊(𝝅)

𝟐
+ 𝐥𝐧(

𝝅√𝝅

𝟐
) − 𝐥𝐧 (

𝟐

√𝒆
) 

, ∫ 𝒙 𝐥𝐧(
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)

𝟏

𝟎

𝒅𝒙 =
ᵧ

𝟐
− 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝑪𝒊(𝝅)

𝟐
+ 𝐥𝐧 (

𝝅

𝟒
√𝝅𝒆) 

∫ 𝒙 𝐥𝐧(
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)

𝟏

𝟎

= 𝝍 

𝝍 =
𝟏

𝟐
(𝜸 − 𝑪𝒊(𝝅) − 𝟒𝑺𝒊 (

𝝅

𝟐
) + 𝐥𝐧(

𝝅𝟑

𝟏𝟔
) + 𝟏) 

 

Solution 3 by Quadri Faruk Temitope-Nigeria 
 

𝑰 = ∫ 𝒙 𝐥𝐧 (
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)

𝟏

𝟎

𝒅𝒙    𝑹𝒆𝒄𝒂𝒍𝒍 𝑻𝒉𝒂𝒕 ∶  𝐥𝐧 (
𝑨

𝑩
) = 𝒍𝒏(𝑨) − 𝒍𝒏(𝑩) 

𝑰 = ∫ 𝒙 𝐥𝐧 (𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙))⏟              
𝑨

𝟏

𝟎

𝒅𝒙 − ∫ 𝒙 𝐥𝐧(𝟏 + 𝒙𝟐)⏟        
𝑩

𝟏

𝟎

𝒅𝒙 

𝑾𝒐𝒓𝒌𝒊𝒏𝒈  𝒐𝒓  𝑨 ∶ 

𝑨 = ∫ 𝒙 𝐥𝐧 (𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙))𝒅𝒙
𝟏

𝟎

= 𝟐∫ 𝒙 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝟏 − 𝒙))𝒅𝒙
𝟏

𝟎

  𝒍𝒆𝒕 ∶  𝟏 − 𝒙 = 𝒙 



 

𝑨 = 𝟐∫ (𝟏 − 𝒙) 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝟏 − 𝒙))𝒅𝒙 =
𝟏

𝟎

𝟐∫ 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝒙))𝒅𝒙 − 𝟐∫ 𝒙 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝒙))𝒅𝒙
𝟏

𝟎

𝟏

𝟎

 

𝑽𝒆𝒓𝒚  𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒊𝒐𝒏  𝒃𝒚  𝒑𝒂𝒓𝒕𝒔 ∶ 

𝑨 = 𝟐[𝒙𝒍𝒏(𝐬𝐢𝐧−𝟏 𝒙)) − 𝑺𝒊(𝐬𝐢𝐧−𝟏(𝒙))]
𝟏

𝟎
− 𝟐[𝒙(𝒙 𝐥𝐧(𝐬𝐢𝐧−𝟏(𝒙)) − 𝑺𝒊(𝐬𝐢𝐧−𝟏(𝒙))]

𝟏

𝟎
− 

−∫ 𝒙𝟐 𝐥𝐧(𝐬𝐢𝐧−𝟏(𝒙))𝒅𝒙 + ∫ 𝒙 𝑺𝒊 (𝐬𝐢𝐧−𝟏(𝒙))𝒅𝒙
𝟏

𝟎

𝟏

𝟎

 

𝑨 = 𝟐 [𝐥𝐧 (
𝝅

𝟐
) − 𝑺𝒊 (

𝝅

𝟐
)] − 𝟐 [𝒍𝒏 (

𝝅

𝟐
) − 𝑺𝒊 (

𝝅

𝟐
) −

𝜸

𝟒
+
𝟏

𝟒
𝒍𝒏 (

𝝅

𝟒
) +

𝑪𝒊(𝝅)

𝟒
+ 𝐬𝐢𝐧 (

𝝅

𝟐
) − 𝐥𝐧 (

𝝅

𝟐
)] 

𝑨 = 𝟐 𝐥𝐧 (
𝝅

𝟐
) − 𝟐𝑺𝒊 (

𝝅

𝟐
) +

𝜸

𝟐
−
𝟏

𝟐
𝐥𝐧 (

𝝅

𝟒
) −

𝑪𝒊(𝝅)

𝟐
 

𝑨 = 𝟐 𝐥𝐧 (
𝝅

𝟐
) −

𝟏

𝟐
𝒍𝒏 (

𝝅

𝟒
) +

𝜸

𝟐
− 𝟐𝐒𝐢 (

𝝅

𝟐
) −

𝑪𝒊(𝝅)

𝟐
 

 𝑾𝒐𝒓𝒌𝒊𝒏𝒈  𝒐𝒓  𝑩 ∶ 

𝑩 = ∫ 𝒙 𝐥𝐧(𝟏 + 𝒙𝟐) 𝒅𝒙 = −∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

𝟏

𝟎

∫ 𝒙𝟐𝒏+𝟏𝒅𝒙 = −
𝟏

𝟐
∑

(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

+
𝟏

𝟐
∑

(−𝟏)𝒏

𝒏 + 𝟏

∞

𝒏=𝟏

𝟏

𝟎

 

𝑩 = −
𝟏

𝟐
[− 𝐥𝐧(𝟐)] +

𝟏

𝟐
[𝐥𝐧(𝟐) − 𝟏] =

𝒍𝒏(𝟐)

𝟐
+
𝒍𝒏(𝟐)

𝟐
−
𝟏

𝟐
= 𝒍𝒏(𝟐) −

𝟏

𝟐
 

𝑻𝒉𝒊𝒔  , 𝑰 = 𝑨 − 𝑩 

𝑰 = 𝟐𝒍𝒏 (
𝝅

𝟐
) −

𝟏

𝟐
𝒍𝒏 (

𝝅

𝟒
) +

𝜸

𝟐
− 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝟏

𝟐
𝑪𝒊(𝝅) − [𝐥𝐧(𝟐) −

𝟏

𝟐
] 

𝑰 = 𝟐𝒍𝒏 (
𝝅

𝟐
) −

𝟏

𝟐
𝒍𝒏 (

𝝅

𝟒
) +

𝜸

𝟐
− 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝟏

𝟐
𝑪𝒊(𝝅) − 𝐥𝐧(𝟐) +

𝟏

𝟐
 

𝑹𝒆𝒄𝒂𝒍𝒍  𝒕𝒉𝒂𝒕:   𝐥𝐧 𝑨𝑩 = 𝑩 𝐥𝐧𝑨 
𝐥𝐧(𝑨) + 𝐥𝐧(𝑩) = 𝒍𝒏(𝑨𝑩) 

𝒍𝒏(𝑨) − 𝒍𝒏(𝑩) = 𝒍𝒏 (
𝑨

𝑩
) 

𝑰 = 𝒍𝒏(
𝝅𝟐

𝟒
) − 𝒍𝒏(

√𝝅

𝟐
) − 𝐥𝐧(𝟐) +

𝜸

𝟐
− 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝟏

𝟐
𝑪𝒊(𝝅) +

𝟏

𝟐
 

𝑰 = 𝒍𝒏(
𝝅𝟑/𝟐

𝟒
) +

𝜸

𝟐
− 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝟏

𝟐
𝑪𝒊(𝝅) +

𝟏

𝟐
 

𝑰 = ∫ 𝒙 𝐥𝐧 (
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
[𝒍𝒏 (

𝝅𝟑

𝟏𝟔
) + 𝜸 − 𝟒𝑺𝒊 (

𝝅

𝟐
) − 𝑪𝒊(𝝅) + 𝟏] 

 

 



 
Solution 4 by Exodo Halcalias-Angola 

 

∫ 𝒙 𝐥𝐧(
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)𝒅𝒙

𝟏

𝟎

= ∫ 𝒙𝒍𝒏𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)𝒅𝒙
𝟏

𝟎⏟                
𝐚𝐫𝐜𝐬𝐢𝐧(𝟏−𝒙)→𝒙

−∫ 𝒙𝒍𝒏(𝒙𝟐 + 𝟏)𝒅𝒙
𝟏

𝟎⏟            
𝒙𝟐+𝟏→𝒚

= 

∫ (𝟏 − 𝐬𝐢𝐧(𝒙))𝒅𝒙𝒄𝒐𝒔(𝒙)𝐥𝐧 (𝒙𝟐)𝒅𝒙 −
𝟏

𝟐
∫ 𝐥𝐧(𝒙)𝒅𝒙 = 𝟐∫ 𝐜𝐨𝐬(𝒙) 𝐥𝐧(𝒙)𝒅𝒙

𝝅
𝟐

𝟎⏟            
𝑰.𝑩.𝑷

−
𝟐

𝟏

𝝅
𝟐

𝟎

 

𝟐∫ 𝐬𝐢𝐧(𝒙) 𝐜𝐨𝐬(𝒙) 𝐥𝐧(𝒙)𝒅𝒙 −
𝟏

𝟐
(𝒚𝒍𝒏(𝒚) − 𝒚)

𝟐

𝟏
= 𝟐((𝐥𝐧(𝒙) 𝐬𝐢𝐧(𝒙))

𝝅
𝟐
𝟎
− ∫

𝐬𝐢𝐧 (𝒙)

𝒙
𝒅𝒙) −

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

 

∫ 𝐥𝐧(𝒙) 𝐬𝐢𝐧(𝟐𝒙)𝒅𝒙 [𝟐𝒙 → 𝒕] −
𝟏

𝟐
(𝟐 𝐥𝐧(𝟐) − 𝟐 + 𝟏) = 𝟐(𝐥𝐧 (

𝝅

𝟐
) − 𝒔𝒊𝒏

𝝅
𝟐

𝟎

(
𝝅

𝟐
) − 𝑺𝒊 (

𝝅

𝟐
)) − 

𝟏

𝟐
∫ 𝐬𝐢𝐧(𝒕) 𝐥𝐧 (

𝒕

𝟐
) − 𝐥𝐧(𝟐) +

𝟏

𝟐
= 𝟐((𝐥𝐧 (

𝝅

𝟐
) − 𝑺𝒊 (

𝝅

𝟐
)) −

𝟏

𝟐
∫ 𝐬𝐢𝐧(𝒕) 𝐥𝐧(𝒕)𝒅𝒕
𝝅

𝟎⏟            
+

𝑰.𝑩.𝑷

𝝅

𝟎

 

𝟏

𝟐
∫ 𝐬𝐢𝐧(𝒕) 𝐥𝐧(𝟐)𝒅𝒕 + 𝐥𝐧 (

𝟏

𝟐
) +

𝟏

𝟐
= 𝟐 𝐥𝐧 (

𝝅

𝟐
) − 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝟏

𝟐
(− 𝐥𝐧(𝒕) 𝐜𝐨𝐬(𝒕)

𝝅

𝟎
+ ∫

𝒄𝒐𝒔𝒕

𝒕
𝒅𝒕) 

𝝅

𝟎

𝝅

𝟎

 

−
𝐥𝐧(𝟐)

𝟐
∫ 𝒅𝒄𝒐𝒔𝒕 + 𝐥𝐧 (

𝟏

𝟐
) +

𝟏

𝟐
= 𝟐𝐥𝐧 (

𝝅

𝟎

𝝅

𝟐
) − 𝟐𝑺𝒊(

𝝅

𝟐
) −

𝟏

𝟐
(𝐥𝐧(𝝅) +∫

𝒅𝒕

𝒕
+ ∫

𝒄𝒐𝒔𝒕 − 𝟏

𝒕
𝒅𝒕) − 

𝝅

𝟎

𝝅

𝟎

 

𝐥𝐧(𝟐)

𝟐
(−𝟐) + 𝐥𝐧 (

𝟏

𝟐
) +

𝟏

𝟐
= 𝟐 𝐥𝐧 (

𝝅

𝟐
) − 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝟏

𝟐
(𝐥𝐧(𝝅) + 𝐥𝐧(𝝅) + ∫

𝒄𝒐𝒔𝒕 − 𝟏

𝒕
𝒅𝒕) +

𝟏

𝟐
=

𝝅

𝟎

 

𝟏

𝟐
(𝟒 𝐥𝐧 (

𝝅

𝟐
) − 𝟒𝑺𝒊 (

𝝅

𝟐
) + 𝟏) −

𝟏

𝟐
(𝐥𝐧(𝝅) + 𝑪𝒊(𝝅) − ᵧ)  

∫ 𝒙 𝐥𝐧 (
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
(𝜸 − 𝑪𝒊(𝝅) − 𝟒𝑺𝒊 (

𝝅

𝟐
) + 𝐥𝐧 (

𝝅𝟑

𝟏𝟔
) + 𝟏) 


